PRE Ak il R — B

B %
IS / (4= pek L | s 4= | IS J . s ERE] s
EIpiAg— s — | BPERES % 2 6,028 | * 3,200 ke 2 3,899 3,400 3,600 3,800
HeRER| 2 1,600 | mamEk 2 2,300 3,000
JEER S % 2 850 800 ke 2 1,056 800 900 1,000
HERER| 2 400 | &exMK| 2 600 800
iEY; O | ik 2 4,444 | * 2800 | —fx 2 2,643 2,600 2,600 2,600
HERER| 2 1,400 | mamEk 2 1,800 2,200
—fi% 1 370 | * 200 1 220 200 200 200
)Y (421f) — % 2 12,057 | * 6,400 | —f% 2 15,862 6,800 7,200 7,600 | %7 Bk D215
HERER| 2 3200 | &éMk| 2 4,600 6,100
)Yy (1) — % 2 6,028 | * 3200 | —fik 2 7,931 3,400 3,600 3,800 | BRI L [RI%E
HERER| 2 1,600 | mamEk 2 2,300 3,000
/NEE) —fi 2 850 800 | —fik 2 5,216 800 900 1,000 |jsEERY L FIAH
HERER| 2 400 | &aME| 2 600 800
NG O | ik 2 18,051 | * 5100 | —fi% 2 7,931 6,000 6,900 7,900
HERER| 2 25550 | &Mkl 2 4,300 6,100
IREE (i) O | ik 2 9,025 | * 2500 | —fx 2 3,965 2,900 3,400 3,900
HERER| 2 1,250 | mamEk| 2 2,100 3,000
RERE(1/3m) | 58010 | ik 2 6,017 | * 1,700 | —fi% 2 2,643 2,000 2,300 2,600
HERER| 2 850 | &Mkl 2 1,400 2,000
KB (1/4m) | 58010 | ik 2 4,512 | * 1200 | —fi% 2 1,982 1,400 1,600 1,900
HERER| 2 600 | =Mkl 2 1,000 1,400
KB (1/6m) | F¥010 | ik 2 3,008 | * 800 | —fi% 2 1,321 900 1,100 1,300
HERER| 2 400 | &eEE] 2 700 1,000
R AR A) 1] 253 200 1[7] 295 200 200 200 |BUAF Bl — 1[EI20 ]
TUN) ] 126 100 117 147 100 100 100 |71 — 1 20
IMETE (2f) | B | ik 2 5,415 | * 1,600 | —fi% 2 4,430 1,900 2,200 2,600 |{AEE(4iE) D1/3
HERER| 2 800 | &Mkl 2 1,400 2,000
IMEFE CER) | R0 | ik 2 2,707 | * 800 | —fix 2 2,215 900 1,100 1,300
HERER| 2 400 | &eEE] 2 700 1,000
IME R AR A) 1] 253 200 1[7] 295 200 200 200 |BUAF Bl — 1[EI20 ]
TUIN) ] 126 100 117 147 100 100 100 |71 — 1 20
AT — 90 | i 2 6,262 6,000 | —i% 2 6,458 6,000 6,000 6,000
HERER| 2 3,000 | &Mkl 2 4,000 5,000
AR A) 1 394 | * 250 1 269 250 250 250
AEORA) 1 197 | = 130 1 134 130 130 130
o—=2 7 — 2 L[] 400 400 1G] 392 400 400 400
H—NR— 45 —fix 1 188 200 | —fik 2 188 200 300 400
HERER| 1 100 | mamk| 2 200 300
HmE — % 1 1,094 1,000 | — 1 1,055 1,000 1,000 1,000
HERER 1 500 | &axEAfk| 1 600 800
HOREE — % 1 1,094 1,000 | —% 1 1,055 1,000 1,000 1,000
keSS 500 | makEAfk| 1 600 800
EMSEARERE  |REAE (42m) qE | —# 2 12,636 | * 3300 | —fi% 2 5,916 4,100 5,000 5,900
ekEK| 2 1,650 | mamk| 2 3,000 4,400
IRBEE Cleim) T | ik 2 6,318 | * 1,600 | —ix 2 2,958 2,000 2,400 2,900
kK| 2 800 | &Mkl 2 1,500 2,200
KB (1/4m) | 5010 | —ik 2 3,159 | * 800 | —fik 2 1,479 1,000 1,200 1,400
kK] 2 400 | &K 2 700 1,000
REHE A ORA) 1] 253 200 13 295 200 200 200 |BU1F 1EIAI ] — 1[EI20 ]
ORA) 1] 126 100 1[7] 147 100 100 100 | SU7 1 — 1 20
IMETE (&) | 0 | ik 2 1,805 | * 800 | —fi 2 1,780 1,000 1,200 1,400 | {47 £ (420f) ©1/4
kK| 2 400 | &eME| 2 700 1,000
UNINEE (KA 11a] 253 200 1[a] 295 200 200 200 |H47 1EI4RE — 1 mI2k 5
ORA) 1] 126 100 107 147 100 100 100 |71 — 1 20
IRAERERE IRE A (4210 U0 | ik 2 12,636 | * 3300 | —fi% 2 5,916 4,100 5,000 5,900
ekEE| 2 1,650 | mamk| 2 3,000 4,400
IRBEE Cleim) T | ik 2 6,318 | * 1,600 | —ix 2 2,958 2,000 2,400 2,900
kK| 2 800 | &Mkl 2 1,500 2,200
KB (1/4m) | 5010 | —ik 2 3,159 | * 800 | —fik 2 1,479 1,000 1,200 1,400
K 2 400 | &K 2 700 1,000
ENR 5 ) 11a] 253 200 1la] 295 200 200 200 |H47 L[4 — 1 [205
BURA) 1/5] 126 100 1/3] 147 100 100 100 | BU7 LI — 1 20
MEBE () | 'Y | 2 1,805 | * 800 | —fi 2 1,780 1,000 1,200 1,400 |75 (420) 0 1/4
K 2 400 | &k 2 700 1,000
IMEHE R A) 1/E] 253 200 10| 295 200 200 200 | BT LEIAI ] — 1120 ]
BURA) 15 126 100 1/3] 147 100 100 100 | BU7 LI — 1 20
i (42i) qEY | —# 2 5,415 | * 1,600 | —ix 2 3,557 1,900 2,200 2,600 | LJFHD AT = LA
K 2 800 | &Mkl 2 1,400 2,000
wiEY (1) gTO0 | % 2 2,707 | * 800 | —fi¥ 2 1,778 900 1,100 1,300
K 2 400 | &K 2 700 1,000
o A ORA) 1] 253 200 13 295 200 200 200 |17 LEIAI ] — 1120
BURA) 15 126 100 1/3] 147 100 100 100 | BU7 LI — 1 20
HnE —fix 1 703 700 | —fi% 1 678 600 600 600
keSS 350 | &kl 1 400 500
HomEE — % 1 547 500 | —fi% 1 527 500 500 500
keSS 250 | &K 1 300 400
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PRE Ak il R — B

B %
N -/ e 4= fek L | S s P | N J o - ERE] s
WIESRRERE [ E S (4m) 80 A 2 2,893 2,800 ik 2 2,893 2,800 BB O RN IR
BEEE 2 1,400 |mamis| 2 1,400 SO I E
IREHE CHm) = 3=l i 2 1,446 1,400 ik 2 1,446 1,400 St O R IR [A)
BEEE 2 700 | wames| 2 700 SO R I E
KB (1/4m) | 58010 | ik 2 723 700 | % 2 723 700 e o s FEH R )
BEEE 2 350 | maxmm| 2 350 BULO R S E
IREHE RN 1[8] 253 200 1[7] 253 200 S D RN FIAR )
O 18] 126 100 1[5 126 100 SRR S E
FEERY — % 2 850 800 | —i% 2 850 800 e O R R FE )
e 400 | mamm| 2 400 BUO R S E
PN N N FHEN ) O | ik 2 12,636 | * 3300 | —f 2 5,916 4,100 5,000 5,900
HERER| 2 1,650 | warEk| 2 3,000 4,400
IR (i) O | ik 2 6,318 | * 1,600 | —fi% 2 2,958 2,000 2,400 2,900
HERER| 2 800 |m&kmik| 2 1,500 2,200
KB (1/4m) | 58010 | ik 2 3,159 | * 800 | —fix 2 1,479 1,000 1,200 1,400
HERER| 2 400 | mekEk| 2 700 1,000
REEH (KA 1[a] 253 200 1[a] 295 200 200 200 |47 1[4 HF— 1 [E1205
RO 1[5 126 100 1[5] 147 100 100 100 L4714 — 1 20
AMEFE (42m) | R | ik 2 1,805 | 800 | —fi% 2 1,780 1,000 1,200 1,400 | {4 fig(4xif) 0 1/4
HERER| 2 400 |mekEk| 2 700 1,000
IMEFE RN 1[8] 253 200 1[7] 295 200 200 200 | 5017 1EIANE ] — 1[FI20 ]
RO 1[8] 126 100 1[5] 147 100 100 100 |HL171 4T — 1 1200
HiE S (42i) e | 2 2,707 | * 800 | —fi% 2 1,778 900 1,100 1,300 |sereek i Cram) LR
HERER| 2 400 | xemlk| 2 700 1,000
Rl (KA 1[a] 253 200 1[a] 295 200 200 200 |H47 1E14REE - 1mI2k5H
AEORA) ] 126 100 117 147 100 100 100 |71 — 1 20
A7 —n 90 | i 2 6,262 6,000 | —i% 2 6,458 6,000 6,000 6,000
HERER| 2 3000 | ek 2 4,000 5,000
AR A) 1 394 | * 250 1 269 250 250 250
AEORA) 1 197 | = 130 1 134 130 130 130
o—=2 7 — 2 L[] 400 400 1G] 392 400 400 400
RHE — % 1 625 600 | —fix 1 603 600 600 600
HERER| 1 300 |xekmdk| 1 400 500
ZHME — % 1 625 600 | —fi% 1 603 600 600 600
HERER 1 300 |xemdk| 1 400 500
KIEARERE IRE B (421 e | 2 2,893 2,800 | —f% 2 2,877 1,400 1,400 1,400 |He & 451k Him >
HERER| 2 1,400 | waEE| 2 1,400 1,400
IR Ceifi) e | 2 1,446 1,400 | —m% 2 1,438 700 700 700 | K iz X
HERER| 2 700 |wamEk| 2 700 700
KB 1/3m) | 500 | ik 2 900 900 | —i% 2 949 400 400 400 [H &l > X
HERER| 2 450 |xekmEk| 2 400 400
REHE A ORA) 1] 253 200 10H] 143 100 100 100 | EA LM > XA
ORA) 1] 126 100 107] 71 50 50 50 | ke dfbitiaic o>
e EE Y | kY — % 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
EE| 2 1,600 | wakEEl 2 2,300 3,000
)Yy (421H) —fix 2 12,057 | * 5100 | —fi% 2 15,862 5,400 5,700 6,000 |#FERYD1. 6fF
kK| 2 2550 | ek 2 3,700 4,800
By (1) —fix 2 6,028 | * 3200 | —fik 2 15,862 3,400 3,600 3,800 | B ERYGLIRI%E
K] 2 1,600 | wakEEl 2 2,300 3,000
s ) ARTEB) (5828 —fix 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
EE| 2 1,600 | wakEEl 2 2,300 3,000
JEEER S5 —fix 2 850 800 | —fik 2 1,056 800 900 1,000
ekEE] 2 400 |xeemRik| 2 600 800
TR S 2 [ P B35 | B Bk 45 —fix 2 6,028 | * 3200 | —fi 2 3,899 3,400 3,600 3,800
K] 2 1,600 | wakEEl 2 2,300 3,000
T S R b B 55 | BEE B 45 —fix 2 850 800 | —fik 2 1,056 800 900 1,000
kK] 2 400 |xeemRik| 2 600 800
BIlARES) S |k, i 2 3,014 | 2,500 | —fi% 2 2,660 2,500 2,500 2,600
K] 2 1,250 | wakElk| 2 1,700 2,100
RO BRARMTYY | TEE) —f% 2 3,014 | * 2500 | —f 2 2,660 2,500 2,500 2,600
K 2 1,250 | warmg| 2 1,700 2,100
AR GET Y | R85 L 0E ) (4xii) —f% 2 10,035 10,000 | —i% 2 10,851 10,000 10,000 10,000
K 2 5000 | #akEER 2 6,600 8,300
R T L) —f% 2 5,017 5000 | —fi% 2 5,425 5,000 5,000 5,000
K] 2 2500 | ek 2 3,300 4,100
OB AR EEERY | BEER S —fix 2 850 800 | —fi¥ 2 1,056 800 900 1,000
K 2 400 |mekmRik| 2 600 800
TR~ —1 |7 — A ORA) 2 640 | * 400 2 495 400 400 400
BURA) 2 320 | * 200 2 247 200 200 200
e~ 1 17,290 | * 15,000 | —fi% 2 30,000 30,000 30,000 30,000
K 1 7,500 | sakER| 2 20,000 25,000
WA o A 7 — | 7 L A ORA) 2 640 | * 400 2 495 400 400 400
BURA) 2 320 | * 200 2 247 200 200 200
e —i 1 17,290 | * 15,000 | —fi% 2 30,000 30,000 30,000 30,000
keSS 7,500 | sakER| 2 20,000 25,000
FEHEFIRA T — L IR T — L — KA 1 394 | * 250 1 269 250 250 250
—8 U 1 197 | = 130 1 134 130 130 130
SO0 | ik 2 6,262 6,000 | % 2 6,458 6,000 6,000 6,000
K 2 3000 | ek 2 4,000 5,000
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(ENE)/ ISR

BAT %
I -/ el L | S8 = g </ g EE o - F34 i
HAhT = [iRAT— L{CSN] 1 394 | * 250 1 269 250 250 250
EORA) 1 197 | = 130 1 134 130 130 130
810 M 2 6,262 6,000 ke 2 6,458 6,000 6,000 6,000
BEEE 2 3000 | mamik| 2 4,000 5,000
KT =L 3,000 46 Ji1 % - 2,500 | 2,500 - 2,500 2,500 2,500 2,500
1,5000 3 fi J1l 75 - * 1,250 - 1,250 1,250 1,250 1,250
BRI (BpER) | MR (B 5O —fi 1 3,258 3200 | —f% 1 2,661 2,600 2,600 2,600
TR T EIE wEEE 1 1,600 [wemes] 1 2,600 2,600
0.5 1,300 1,300 1,300
PRBA ARG GEB) |0 GEms - 2 — % 1 6,400 6,400 | —i% 1 5,323 5,200 5,200 5,200 | B ek 0245
) TRk wEEE 1 3200 |wsmk| 1 5,200 5,200
0.5 2,600 2,600 2,600
PR GREB ) ) —fix 1 3,200 3200 | % 1 2,661 2,600 2,600 2,600 |7 Bk & R
HERER 1 1,600 | &k 1 2,600 2,600
0.5 1,300 1,300 1,300
FARA (i (rEBkyy) | ARG (REERY) —fi% 1 258 200 | —f% 1 265 200 200 200
SRR AR/ A waEk] 1 100 |mamn] 1 200 200
0.5 100 100 100
BB (] it | PR i () Eh55)) —& 1 258 200 | —fik 1 265 200 200 200 |REERS L [RIAH
%) BIRE a1 100 | waxmEk| 1 200 200
0.5 100 100 100
- I (4 — N — ) ,,:RQ 1 258 200 jﬂ% 1 265 200 200 200 |fEERY; L [A)4E
R—/L4) b3 BERER| 1 100 | s&mEk| 1 200 200
0.5 100 100 100
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